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Mo B Eag FI % BB {25
1 B R 102 6 g
2 ® A 103 4 g
3 F A 104 4 g
4 3k F e 106 10 g
5 By 106 18 =
6 B IF 106 19 L
7 HhE 107 15 g
8 ME % 110 5 g
9 e 110 14 g
10 BTk 110 20 A
11 RN 111 22 +
12 Lo SE3 112 12 g
13 ¥ 4 112 15 g
14 RN 205 11 g
15 L 206 10 g
16 %K 209 4 g
17 FPH 308 1 7
18 5E 2. 4 402 24 =
19 R = 505 21 *
20 X 33 509 26 +
4T 1 5] & % 206 1 g
A 2 g4 111 27 -
At 3 * F=1% 307 24 L
At 4 iy e 302 15 A
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1 5 ¥ 201 30 -
2 it 48 202 17 =
3 F it 202 24 B
4 E 211 23 B
5 )33 212 22 e
6 %4 303 22 E
7 R 305 26 E
8 HE2 311 14 %
9 HE K 311 24 -
10 e 402 18 L
11 I 407 23 «
12 = 409 17 “
13 e 409 23 L
13 G 5 508 25 "
14 E 4 4 409 24 g
16 3457 509 20 "
17 EREn 511 28 "
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S5 el FL% B B 12 %)
1 L F 101 2 g
2 v R 102 11 5’
3 W B 103 24 -
4 FRPrE 103 27 -
5 108 28 -
6 112 10 g
7 112 23 -
8 112 28 =
9 203 19 =
10 203 22 -
11 207 3 g
12 207 16 -
13 208 29 -
14 209 02 g
15 211 9 g
16 311 21 -
17 403 23 -
18 406 10 g
19 410 19 -
20 411 17 -

iE A 1 102 18 -
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KoL WL I1% B 5L 4 5]
1 h4 3 301 5 7
2 R B i 302 6 7
3 £ EH 305 9 7
4 25 A 307 2 7
5 FE 307 13 7
6 S 308 7 7
7 B 310 4 7
8 5E 1k 401 1 7
9 RS 401 15 7
10 i 402 4 7
11 E ke 403 4 7
12 5 404 8 7
13 s 406 11 7
14 FOBER 2 406 13 7
15 FEB 407 16 L
16 ¥ 408 15 7
17 L) 409 12 7
20 pLe 410 11 7
19 %Kk 410 10 7
18 5 Ju §F 410 6 7
21 Sh 411 7
22 £ € 501 13 7
23 M 501 28 L
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S5 ¥ 7 1% s BE e
1 P ARAF 401 14 g
2 L 402 2 g
3 75 R 404 13 g
4 & P 406 1 g
5 [Eeea 406 6 g
6 T K 408 6 g
T A 408 9 g
8 £F 5 409 11 g
9 LUE N e 411 6 g
10 Mg 507 6 g
11 ELE 601 5 g
12 »d =z 602 5 g
13 B F g 602 13 g
14 HREFE 603 5 g
15 & £ 605 15 g
16 HrEE 606 13 g
17 Ll e R 609 3 g




